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----- .Find a general solution of the following differential equations:

1. x2%+x(x+2)y=ex (10 49

2. xy? 2=y -2 (109)

3. LY Ty By (10 4)

dx3 dx?  dx

2
4, d—y—4%+4y=e2x+e"+1 (10 o)

dx?

...... Solve the following system of differential equations using Laplace transform. Given that
x(0) =y(0) = 1. (20 %)

dx gy = ot
dac Y T¢
dy

B-E——Bx—-—t

= .For the matrix 4 given below:
1. Determine the inverse of 4. (5 4°)

2. Determine the eigenvalues of 4. (5 47) 130

. . .. A=}l 3 -1 0
3. Determine their corresponding eigenvector. (5 %) 2 -2 6
4. Determine A°'. (5 %)

P4. Solve the following partial differential equation with coefficient a: (20 %)

20% _ 0%

5 = ar 0<x<1, t>0)
subjected to boundary conditions: u(0,t) =0, u(1,t)=0, (t>0)
and initial conditions: u(x,0) = 0.1sin57x, %;5 o= 0, (0<x<1).




